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\documentclass{beamer-rl}
\babelprovide [import=ar-DZ, main]{arabic}
\babelfont{sf}{Amiri}

\mode<presentation>{\usetheme{Warsaw}}
\begin{document}

\end{document}
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.The proof uses reductio ad absurdum

s

«There is no largest prime number
v

.dbj

.Suppose p were the largest prime number @
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.The proof uses reductio ad absurdum
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«There is no largest prime number
v

nduj
.Suppose p were the largest prime number @

.Let q be the product of the first p numbers @
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.The proof uses reductio ad absurdum
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«There is no largest prime number
o
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.Suppose p were the largest prime number @
.Let ¢ be the product of the first p numbers @
.Then g + 1 is not divisible by any of them @
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.The proof uses reductio ad absurdum

s

«There is no largest prime number
o

Ola

.Suppose p were the largest prime number

.Let ¢ be the product of the first p numbers
.Then q + 1 is not divisible by any of them

©000O

But g + 1 is greater than 1, thus divisible by some prime number not in
L] .the first p numbers
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\pgfimage [height=5cm] {example-image}
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